X19-011 (6/32)

4. 114 (3/8)
B INSPAC 5T ES il N
EE 10HR-SB1 =58 45°C 40%RH
o .5 4840004820 MRS Sl 25°C 50%RH
& KRR 484100-3450 (54238 i B ~20°C ~+60°C
- HEEE AEEHA IT7I4)LA RYFAELUNZhLRY
5 :L.:%%?k — iR =E | ON(MPa)
EEGTH ERER ¥ OFF (MPa)
app— " =
g H EREBEE V) HtH 100 % FEERMRATOTI2 130°C (&)
e E%Jﬁ;&ﬂ(HZ) 50 / 60 = [EiEteH—< )L
M AEREN (W) 19 / 22 B E#EETOT94 10.3A at 100°C (FAEBIRS)
ERAEHEE W) 0.710 / 0.870 SERRFIEY L —
lﬁ% E*&%E_I*)bf‘—;‘%i%iﬂzg(—) 267 / 252 I = 29
) MEIEEER (A) 78 / 87 (MPa) 1K E & 1.8
= HE (%) 91 / 99 Pa—K IP2X
= — X
I IRBIER (A) 35 / 32 7\ 8 & (mm) 395
e A BEA ﬁ;’_ B4T (mm) 450
AR R E 2 (deg) 95 / 94 5\21_-{ =X (mm) 990
Eff B el DR BHEE (ke) 36
o B | &t h (W) 0.50 - EILE (dB(A)) 63 / 66
0 e IL—hI48Fa— BEAEN (L/h) 0.18 / 0.20
= Gt U7 | VLU OE P (mm) 16
AR HAE (ke) R407C 0.42 i+ ARSI ®125x% 1
A *vE50F2—7 || BT amamEosuo ©125x 1
Zetill e R HE 5 vk -IBE
% A £ (m?/min) 53 / 63 P 12 (mm) 495
| BERHEHOW) 91 / 144 *@E % 547 (mm) 535
= <+ —
x 5 a8 (Pa) 0/0 gull B3 =& (mm) 1,290
= B E [R5 (m®/min) 27 / 3.2 ¥k BE (@ 42
: ==K
23 2 R ayairy pa—
B = ) HEHY 2E%
e3 BE= (m3/min) 11.7 / 137 -
& mmmEaw (ERBLAE) s =
5 L (o) 00 % EXE BIRR/NIARE (mm?) PRER2.0
s 10454 L<I£10,000B5 DLV T h
R ZREF (m®/min) 105 / 123 & BCEELHRM (GE5)
g BIERA(VTF ByhH—RAYF
BHE FRAT FLYiEKS2T (1)
H
B | pLuBkR(vF TAHORAYF

GE1) ERERTREMH(X37°C60%RHTT,
GE2) EREEDEHIEIE10%TT,

(GE3) IREBIL—HZET EYA FTIIESLY,
GE4) REFRIZ2019F90 AR EDLD T,
GE5) HEREHERBRL. BEAVT VAN TON-LTOMEEGTT . RIEFHTEHYEL A,

k=t V=T 7T-)




